Unit 8 Lesson 1 - Solving Radical Equations Name: KC\j

Radical Equation: An equation With a \/a m 1 L\(/ inside the E d (“(,Q I L
Example: \S Xt3 =5

When we solve equations in math we use \ Nverses operations to help us get the Vaviablv by itself.
Steps:
. \5 0l 0\‘\‘ ¢ the square root

¢ Undo the square root.

o How do you UNDO a squate root? o GUurre

¢ Solve for x. Depending on the problem, this might be solving a S\ &% equation or a _QM.{MiM:U_(J_

0
equation. What method(s) might be the best choices to solve a quadratic equation? —> ggrav

rComplete O
©54.
® Ensure you do not have any extraneous solutions.
o0 How do we make sure all of our solutions are correct? C/H EC((_,'
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Examples: You Try:

1. xé 56—x)‘- 2. )325 2x)*

X% =5 -X K2 = 2%
R*+x -5 =0 X2 —2X =0
(x+8ix-1 =0 Kn—e) =0
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Skx— —Q.Zl_tﬁ)l
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K= 3,3 "H\O\"" Wb'\/\é- with

Mo Soluttion !
Is there a way to find the solution to these equations using DESMOS?

5.x—6 =21 — 4x .
Take the left side of the equation and set it equal to y. What type of function is this? \,\ neavr
Take the right side of the equation and set it equal to y. What type of function is this? S C\ uare Yoot

Do these functions intersect?
I€ not, there is NO SOLUTION (_{})
If they intersect, the X value of the point of intersection is the solution. (\X Y )

6 VEr—m=x-4 195 7 x=VEE=TE+6 J10,uY
8. —x +V6x—17 = -2 X(l,%z; 9.5Vx—4—x=0 ?S;ZO%

10.2V3x—4-7=x-7 ?l,gzgj lb"_lng
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